A B Gk (FME A 2 <)

ERk244E TH 1 BBUE LA % L8 & &
FIRTH AR 79,627 92,713 97,477 190,190
NHE— T H 28 29 36 65
JN Hit Al AHT 60 59 58 117
N Hit A T 46 56 59 115
7N HitERTE K 168 197 208 405
N i 7S BT 611 588 718 1,306
N HERAL /BT 37 37 50 87
J R I 133 137 143 280
NHuEET 1,083 1,103 1,272 2,375
RIEAR 133 155 169 324
AT PN A 663 697 794 1,491
AR AR 1L 1,415 1,688 1,873 3,561
NN 115 100 118 218
N ST 64 57 79 136
AR 4B 5L 211 223 233 456
AN AL S 53 60 50 110
AL S 381 448 452 900
AL L JH 293 325 350 675
NN S 688 833 880 1,713
A IEH 379 403 385 788
N 289 308 327 635
ARG 173 240 235 475
I RS 492 513 597 1,110
AN V5 TR 948 1,196 1,245 2,441
A% vE 400 384 463 847
AR 1L 186 223 243 466
I AEHG 97 117 126 243
AT B 272 323 344 667
N 331 428 428 856
ARV 1,801 2,618 2,642 5,260
N NS 2 2 1 3
A 4 448 503 545 1,048
A e i 295 344 372 716
AR B SR 33 35 47 82
AR R (L 1,932 2,600 2,613 5,213
AN e (LK 435 548 570 1,118
NS 12,529 15,371 16,181 31,552




A B Gk (FME A 2 <)

ERk244E TH 1 BEBE LA % L8 a5 F
FEeE—TH 160 222 242 464
VEHETH 195 269 314 583
YREE=TH 157 225 232 457
FREMT H 143 193 196 389
FEEAR 655 909 984 1,893
FE—FH 179 250 262 512
HAaE— B 276 371 374 745
T B 104 136 144 280
T AR 226 258 267 525
FE R 372 478 488 966
T FERIVKE 5 11 11 22
R R R AR 93 146 114 260
T FETIR 408 469 500 969
hE LS 24 35 32 67
f R E A HE 181 220 122 342
HEAE 259 306 329 635
R ENE 4 6 8 14
T =& 326 283 349 632
TTEZ R 372 417 437 854
7 R B 340 359 345 704
Ei/gs = i 28 37 37 74
R R4 22 18 24 42
TR R 26 30 37 67
R SR RGE 181 224 231 455
HTEF N 339 451 487 938
R E EH 194 236 254 490
T/ FEVE TR 252 253 298 551
T H 136 163 167 330
T FETE R 390 460 502 962
T RS 212 231 229 460
T R 500 558 562 1,120
T H AR H 314 381 421 802
T EEER 85 105 96 201
BRSNS 499 656 658 1,314
hERE A 524 557 642 1,199
A 51 74 83 157
fo e = AEIE A H 11 14 11 25
hIEE 6,933 8,193 8,521 16,714




A B Gk (FME A 2 <)

ERk244E TH 1 BEBE LA % a5 F
RN 133 139 163 302
BT L 66 77 82 159
HE KIEN 163 178 205 383
HERA 9 17 17 34
B 38 ] 43 83 47 78 125
B IE B 52 72 71 143
BT 27 31 30 61
B L 599 649 701 1,350
B ] 0 0 0 0
HOBEEER 1 1 0 1
S 38 H 243 258 293 551
B 1 62 70 71 141
HIEAR TV 586 736 762 1,498
HIER/ 11 8 10 18
HHIE 1 194 218 241 459
B 1E TR 70 70 96 166
IE P 62 65 67 132
SIEPEEE D 76 108 101 209
BB H 36 47 53 100
I HIE N 4 6 8 14
SIE R 1D 206 238 267 505
BB ERT 175 295 289 584
BB AL L 222 236 249 485
SaIE D 67 105 87 192
BB 119 125 147 272
] 149 175 182 357
ERER E 323 396 416 812
B 3E L 22 26 25 51
BT /R 111 131 146 277
HE T 3,871 4,524 4,857 9,381
FEL—TH 108 138 142 280
PIAEL=TH 219 275 292 567
PEIL=TH 272 363 367 730
P T A 44 49 55 104
P LET 643 825 856 1,681
e 911 Blete) 25 30 31 61
AHHNE DL 1 2 1 3




A B Gk (FME A 2 <)

Rk244E TH 1 HEAE 2 % &)
AR PG L 1 1 0 1
AR VEAH 31 38 36 74
AR R 24 26 30 56
TR 1 GG 11 11 10 21
AR FERE 28 28 38 66
e INIIEa 0 0 0 0
)2 121 136 146 282
R L A 1 1 1 2
ER LR 7Y 7 12 13 25
BRI/ ot 7 9 5 14
FR AR L 14 15 14 29
BRI A 12 23 13 36
PRI /5T 14 22 22 44
R L EA 0 0 0 0
ERILIPE 4% 19 29 31 60
I IVNGE| 28 36 26 62
ER LU T 6 9 9 18
Uk =2 14 26 15 41
R IGET 122 182 149 331
—REFI 0 0 0 0
R 2 2 0 2
CRRERTS 3 2 3 5
“REBR 2 2 4 6
RIS 2 1 1 2
CRMRIRE 0 0 0 0
CRVEMT 4 6 6 12
CRHGHET 7 8 10 18
Rt 20 21 24 45
AR 1 1 0 1
LR PEAE 1 2 3 5
VYR i 1 0 1 1
2 FE A 2 2 1 3
B ET 5 5 5 10
HROAT R H 2 1 2 3
RO B 2 0 2 2
SRAF R H 1 2 1 3
UG U 3 3 4 7




A B Gk (FME A 2 <)

ERk244E TH 1 BEBE LA % a5 F
AU ) 1 1 0 1
WG Ay ) 5 5 4 9
WG 3 5 4 9
A B A 1 2 1 3
OB H 6 8 8 16
WG U AT 5 3 3 6
WG 29 30 29 59
PE AU H TR 2 2 1 3
PaAEHGFE A 1 PE 5 7 16
Va5 R YK 0 0 0
P AU 7 8 11 19
V8 A% HCR 2 3 2
P AR 3R 0 0 0 0
PEARIC R g 37 19 36 55
PE A I T R 8 9 7 16
[N CananplINic] 4 2 7 9
Pa AT 1 1 2 3
PEARIR S [ 1 1 0 1
PR A 2 2 3 5
Pa A BT 69 54 78 132
B ERT—T B 159 187 208 395
AHERT =T B 390 471 466 937
FHERT =T H 273 332 362 694
B HTIU T H 111 206 189 395
HEP=Yiiiy 933 1,196 1,225 2,421
Fiath AR 240 287 316 603
Flaedk 317 317 357 674
FIRF LF 233 184 187 371
FIRERE 394 481 524 1,005
FIRTT 104 86 105 191
FIREE L 878 1,072 1,164 2,236
FlaaeH T 4 6 9 15
FIRALA 3 5 4 9
FIREE 184 217 230 447
FIE AR 226 307 323 630
FIR/I 24 23 23 46
EREE 517 457 403 860




A B Gk (FME A 2 <)

ERk244E TH 1 BEBE 4 % L8 a5 F
FIE & 283 311 358 669
FIRIEH 319 419 426 845
FIREE 212 246 262 508
EREPN i 67 101 112 213
FIRF /N 225 259 290 549
FIaEE) 127 82 142 224
FIaRXE 189 198 226 424
SR LI T 593 713 729 1,442
EREE =] 1,281 1,628 1,673 3,301
SRELLV 6 9 11 20
FIREEE 384 486 523 1,009
FIRHEN 148 168 190 358
FIR L 93 101 135 236
Fa Xz 99 103 116 219
ERELS 735 701 840 1,541
EREN 686 837 826 1,663
FYE L H 17 11 23 34
FIR LA 107 106 119 225
TR I 153 166 197 363
ERIEEAT U 340 361 366 727
FIE AR 0 0 0 0
FI67 9,188 10,448 11,209 21,657
HEEAR—TH 186 246 264 510
HEGR _TH 189 216 276 492
EEAR—-TH 207 257 267 524
HEGR 582 719 807 1,526
fiEe—TH 187 237 244 481
riEs —TH 133 160 170 330
rEa=TH 184 245 261 506
rEaMNTH 227 269 306 575
PriEast 731 911 981 1,892
Kipa—TH 117 140 140 280
K TH 104 140 135 275
Kipa=TH 136 173 179 352
KRR 357 453 454 907
E T 1 2 2 4
1) 1A 7 8 7 15




A B Gk (FME A 2 <)

ERk244E TH 1 BEBE LA % a5 F
EPIINSIES 69 90 84 174
BT 12 14 18 32
HJIF 0 0 0 0 0
=M 2 2 1 3
SRl 366 145 298 443
HIR L 150 74 76 150
HI'E /1% 6 12 12 24
EPIN=45i] 1 1 1 2
H K& L 3 3 0 3
SPATIER:N 13 16 16 32
FEREE L 3 0 3 3
B)IEH 633 367 518 885
FHEA = R 598 695 773 1,468
PR 263 269 313 582
B E AL 768 920 955 1,875
A 959 1,181 1,300 2,481
R 2,588 3,065 3,341 6,406
P10y 751 850 796 1,646
PHarit 751 850 796 1,646
mREIT— T H 359 398 455 853
FRERT — T H 238 263 285 548
BRI =T B 81 91 99 190
FIBERTIU T H 112 132 141 273
BT H T B 135 143 159 302
P PEHT F 925 1,027 1,139 2,166
TR S T — /b 461 582 567 1,149
R S BT A 78 94 82 176
HiE S W —HT 37 69 56 125
R I T o 379 489 471 960
NG 59 59 54 113
G TN 80 117 115 232
N 8 6 8 14
R S5 T 187 212 237 449
HE ST %5 1,011 1,188 1,137 2,325
FE S HT AL 200 237 217 454
FE 55T . F H 16 24 10 34
R S TR 78 36 69 105
FEEHT =+ 84 94 91 185




A B Gk (FME A 2 <)

ERk244E TH 1 BEBE LA % L8 a5 F
R S5 T I AT 11 14 16 30
TR S T+ — 110 130 102 232
HE S HT 05 64 70 66 136
AT SN 16 13 7 20
R S HTTE 7K 96 146 151 297
R o T T 103 118 94 212
HiR S T 4 54 78 69 147
TR S T H 4K 293 357 386 743
HE S5 BT T 221 257 255 512
HiE J55 T P SR 0 0 0 0
HE 50T — -1 6 7 9 16
iR 5 T B 28 25 43 68
R S5 HT R I 287 293 352 645
R =5 T O 948 1,099 1,090 2,189
S HT 222 182 150 332
HE ST A B 1,294 1,513 1,430 2,943
R S TR A 32 34 36 70
= A SRl 0 0 0 0
HE S TR 6,463 7,543 7,370 14,913
INERTEE R 310 257 246 503
/N T B 35 39 52 91
/N BT 196 188 202 390
/NEHTA H £k 348 373 361 734
AN =LIWNES 188 221 241 462
/BT 152 168 182 350
NEETSEN 278 287 299 586
NERTRE 305 304 319 623
/N T R 215 243 259 502
AN NEN 853 855 957 1,812
7N T e A 127 148 157 305
/BT L 590 693 731 1,424
71N BT SEE 933 1,102 1,187 2,289
/NETHTE L 385 504 502 1,006
AN =R 703 841 919 1,760
/N T AR 1,277 1,349 1,478 2,827
7N T T U 1,318 1,426 1,497 2,923
/N T LB 691 771 759 1,530
/AR EE 8,904 9,769 10,348 20,117




A B Gk (FME A 2 <)

ERk244E TH 1 BEBE LA % L8 =
(e T H 400 462 421
T 225 261 262
SN BTV 1 221 272 287
BT RA 837 997 1,087
(&5 T % H 121 148 150
e Tk L 281 295 343
(L T ERE 394 439 482
FEAHRTH /5 132 152 147
(FHEL TR H 892 1,125 1,192
(BT R 158 222 252
{5 FH T A 3 15 22 21
FEA T | 321 422 428
(FHEN T (L 583 612 689
{2 HH T R 3l 529 608 625
(&5 TR (L) 380 543 516
P55 T 3 554 647 706
(FHEL T AR 313 375 359
FEAmBTA ARA—T H 369 427 450
FHEAEITA AR T H 234 271 272
FEHITA A =T H 64 67 83
FHEAHETE] 7,023 8,367 8,772
2 H BT e 0 0 0
EQELIDN = 90 106 103
ZH T EF 90 106 103
BRHT 982 1,225 1,233
BRET 982 1,225 1,233
JR BT — B (L 386 447 485
JISEPHT /N 2 855 1,033 1,071
INSSIPNE 725 1,018 1,056
J< B T A A A 532 619 682
NP D 287 332 365
NP o 112 109 98
Jis BT <F L 915 1,078 1,194
NS RN 1,099 1,580 1,638
NSl 321 407 407
JI B T % 90 143 134
J< B HT P 2 364 304 269




A B Gk (FME A 2 <)

Rk244E TH 1B BIE L e 5 L8 =
Ji< B HT BRZE 550 638 684
JI B BT JE = S5 A 364 333 31
Jis BT L 518 604 615
NS N 806 970 1,062
JS B HT EF 7,924 9,615 9,791
SFlle—TH 96 145 161
FILHEZTH 125 182 197
FILBE=TH 128 165 179
LB 349 492 537
KACRHET HAR 516 514 587
KRALRHT H/ F, 158 157 161
RINRBT KA 273 294 302
RIGRHET | /1L 411 410 429
RAGRETIE 7 1L 227 237 234
RINRET AR 293 295 299
NS 75 89 89
RINEGRET IS /Y 0 0 0
RINERET RS 594 657 652
KALRATREG /1 386 393 428
KALRET LN 274 304 346
RAPRIT BAR O 5 2 58) 1,396 1,329 1,608
RIERITSE3% ) 521 528 616
UNCSIED 5,124 5,207 5,751




